BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE MAGNOLIA PLACE PUBLIC DETENTION POND IMPROVEMENTS MAGNOLIA EAST MUNICIPAL UTILITY DISTRICT CITY OF MAGNOLIA, MONTGOMERY COUNTY, TEXAS JUNE 4, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JUNE 4, 2024

BIDDER'S NAME	TOTAL AMOUNT BID	BID INCLUDING ALTERNATE BID ITEMS	
1) DC CONTRACTING SERVICES, LLC	\$599,475.00	\$1,335,775.00	
2) LONNIE LISCHKA COMPANY, LP	\$612,256.07	\$1,625,166.07	
3) EUBANK EXCAVATION LLC	\$706,240.22	\$1,585,820.22	
4) PLD CONSTRUCTION, LLC	\$707,015.50	\$1,240,335.50	
5) DOUBLE OAK CONSTRUCTION, INC	\$737,362.50	\$2,138,322.50	
6) REBEL CONTRACTORS, INC.	\$806,724.00	\$1,373,874.00	
COLE M. CARAWAY 135177 6/7/2024		voe.e	

2559-1915 (9.2)

CALENDAR DAYS 150/180



I, Cole Caraway, PE, hereby certify these bid tabulations to be true and correct.

FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MAGNOLIA PLACE PUBLIC DETENTION POND IMPROVEMENTS MAGNOLIA EAST MUNICIPAL UTILITY DISTRICT CITY OF MAGNOLIA, MONTGOMERY COUNTY, TEXAS

JUNE 4, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO JUNE 4, 2024 2559-1915 (9.2)

LUA GOD NO.			201	00 1010 (0.2)					
			RID	1) DC CONTRACTING	S SERVICES, LLC	2) LONNIE LISCHK	A COMPANY, LP	3) EUBANK EXC	AVATION LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BASE BID ITEMS									
1 CLEARING AND GRUBBING, INCL TRANSPORT, COMPLETE IN PLACE	UDES ROOT RAKING, BACK DRAGGING AND CE	AC	16.07	\$5,180.00	\$83,242.60	\$9,200.00	\$147,844.00	\$4,463.50	\$71,728.45
CHOOSING METHODS OF DEBRIS HAUL OFFSITE) IN ACCORDANCE REGULATIONS. OWNER WILL AL ACCORDANCE WITH STATE AND	RUBBING. CONTRACTOR IS RESPONSIBLE FOR S REMOVAL (ONSITE BURNING OR CHIP AND E WITH STATE AND LOCAL GOVERNMENTAL LLOW MATERIAL TO BE BURNED ON-SITE IN LOCAL REGULATIONS, BUT NO ADDITIONAL ME WILL BE MADE IF BURNING OF DEBRIS HAS ASON, COMPLETE IN PLACE	AC	16.07	\$1,076.00	\$17,291.32	\$1.00	\$16.07	\$3,306.70	\$53,138.67
AREAS AS INDICATED ON PLANS PLACEMENT IN MAXIMUM 8-INCH	OND, INCLUDES SITE PREP, HAULING TO FILL WITHIN 1 MILE OF THE SITE (OFF ROAD HAUL), I LIFTS, MANIPULATION, PROOFROLLING, AND D PROCTOR DENSITY AS INDICATED ON PLANS,	CY	39800	\$4.40	\$175,120.00	\$4.55	\$181,090.00	\$4.20	\$167,160.00
4 5" THICK REINFORCED CONCRET	TE PILOT CHANNEL, COMPLETE IN PLACE	LF	719	\$74.00	\$53,206.00	\$71.00	\$51,049.00	\$103.20	\$74,200.80
5 24" RCP STORM SEWER ASTM C BACKFILL, ALL DEPTHS, COMPLE	-76, CLASS III, INCLUDES BEDDING AND ETE IN PLACE	LF	68	\$148.00	\$10,064.00	\$126.00	\$8,568.00	\$143.00	\$9,724.00
6 30" RCP STORM SEWER ASTM C BACKFILL, ALL DEPTHS, COMPLE	-76, CLASS III, INCLUDES BEDDING AND ETE IN PLACE	LF	78	\$176.00	\$13,728.00	\$139.00	\$10,842.00	\$165.40	\$12,901.20
7 36" RCP STORM SEWER PIPE, AS BACKFILL, ALL DEPTHS, COMPLE	STM C-76, CLASS III, INCLUDES BEDDING AND ETE IN PLACE	LF	363	\$226.00	\$82,038.00	\$169.00	\$61,347.00	\$231.30	\$83,961.90
8 42" RCP STORM SEWER PIPE AS BACKFILL, ALL DEPTHS, COMPLE	TM C-76, CLASS III, INCLUDES BEDDING AND ETE IN PLACE	LF	65	\$320,00	\$20,800.00	\$225.00	\$14,625.00	\$294.60	\$19,149.00
	C" MANHOLE FOR 42" STORM SEWER AND NTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$6,942.00	\$13,884.00	\$6,800.00	\$13,600.00	\$4,815.40	\$9,630.80
10 TYPE C MANHOLE WITH TYPE 'E'	INLET TOP, COMPLETE IN PLACE	EA	2	\$7,409.00	\$14,818.00	\$8,800.00	\$17,600.00	\$4,945.90	\$9,891.80
11 INLET PROTECTION BARRIER FO	OR TYPE 'E' INLET, COMPLETE IN PLACE	EA	2	\$97.00	\$194.00	\$150.00	\$300.00	\$100.00	\$200.00
STOCKPILING STRIPPINGS, PLAC	ALE, INCLUDES EXCAVATION, STRIPPING, CEMENT AND COMPACTION TO 95% STANDARD MUM 8" LIFTS, AND RE-APPLICATION OF CE	LF	1035	\$3.00	\$3,105.00	\$3.00	\$3,105.00	\$6.30	\$6,520.50
STRIPPINGS, PLACEMENT AND C	XCAVATION, STRIPPING, STOCKPILING COMPACTION TO 95% STANDARD PROCTOR 'S, AND RE-APPLICATION OF STRIPPINGS,	LF	455	\$3.00	\$1,365.00	\$3.00	\$1,365.00	\$6.30	\$2,866.50
	OUTFALL STRUCTURES INCLUDES 24" HDPE, OPE PROTECTION, COMPLETE IN PLACE	EA	1	\$12,969.08	\$12,969.08	\$10,890.00	\$10,890.00	\$12,637.90	\$12,637.90
15 FULL CONSTRUCTION STAKING I NUTTER AT 713.953.5042	FOR DETENTION POND ITEMS. CONTACT GARY	LS	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
SPILLWAY, SEE DETAIL A-A, SHE	EMENT FOR EMERGENCY OVERFLOW EET 19, WITH #4 @ 12' C-C EW, INCLUDES 18" UND PERIMETER, COMPLETE IN PLACE	SY	160	\$125.00	\$20,000.00	\$132.00	\$21,120.00	\$154.70	\$24,752.00
CONCRETE SLOPE PAVING W/ 4' POND, 2-4:1 S.E.T., 2' TOE WALL	TORM SEWER OUTFALL STRUCTURE, INCLUDES TOE WALL ALONG FLOW LINE OF DETENTION ON ALL SIDES, 18" CEMENT STABILIZED SAND ND ALL APPURTENANCES, ALL SIZES, ALL	LS	1	\$6,150.00	\$6,150.00	\$11,960.00	\$11,960.00	\$24,309.10	\$24,309.10

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MAGNOLIA PLACE PUBLIC DETENTION POND IMPROVEMENTS MAGNOLIA EAST MUNICIPAL UTILITY DISTRICT CITY OF MAGNOLIA, MONTGOMERY COUNTY, TEXAS JUNE 4, 2024

LJA ENGINEERING, INC. AVIGAIL AMIGLEO JUNE 4, 2024 2559-1915 (9.2)

			RID	1) DC CONTRACTING		2) LONNIE LISCHKA		3) EUBANK EXC	
ITEM DESCRIPTION		UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
18 4" THICK SLOPE PAVING FOR POND OUTFALL SIDE SLOPES WIRE MESH AND 4" TOE WALL ALONG FLOWLINE OF CHANN ON ALL OTHER SIDES, 18" THICK CEMENT STABILIZED SAND COMPLETE IN PLACE	IEL AND 2' TOE WALL	SY	100	\$137.00	\$13,700.00	\$110.00	\$11,000.00	\$188.70	\$18,870.00
19 PROMATRIX DRY APPLICATION FOR SIDE SLOPES, COMPLE	TE IN PLACE	SY	4860	\$1.50	\$7,290.00	\$1.25	\$6,075.00	\$2.50	\$12,150,00
20 HYDROMULCH SEEDING OF MAINTENANCE BERMS AND POL COMPLETE IN PLACE	ND BOTTOM,	AC	3	\$1,850.00	\$5,550.00	\$2,900.00	\$8,700.00	\$3,235.40	\$9,706.20
21 INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FAE BARRIER FENCING), COMPLETE IN PLACE	RIC FENCE (SILT	LF	10000	\$1.00	\$10,000.00	\$0.01	\$100.00	\$3.50	\$35,000.00
22 STORM WATER POLLUTION PREVENTION PLAN COMPLIANC GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIF BID PROPOSAL, COMPLETE IN PLACE		LS	1	\$1,750.00	\$1,750.00	\$2,500.00	\$2,500.00	\$1,882.40	\$1,882.40
23 ROCK FILTER DAM, TYPE 2, (ONLY AS DIRECTED BY THE EN IN PLACE	GINEER), COMPLETE	EA	2	\$2,500.00	\$5,000.00	\$10.00	\$20.00	\$5,294.30	\$10,588.60
24 24" STORM SEWER OUTFALL, COMPLETE IN PLACE		EA	1	\$3,440.00	\$3,440.00	\$3,640.00	\$3,640.00	\$3,246.80	\$3,246.80
25 42" STORM SEWER OUTFALL, COMPLETE IN PLACE		EA	1	\$8,170.00	\$8,170.00	\$8,300.00	\$8,300.00	\$7,712.60	\$7,712.60
26 CONNECTION TO EXISTING 24" RCP STORM SEWER, COMPL	ETE IN PLACE	EA	2	\$800.00	\$1,600.00	\$800.00	\$1,600.00	\$4,655.50	\$9,311.00
BASE BID ITEMS SUBTOTAL:					\$599,475.00		\$612,256.07		\$706,240.22
ALTERNATE BID ITEMS									
1 EXCAVATION FOR DETENTION POND, INCLUDES SITE PREP OFFSITE DISPOSAL OF EXCAVATED MATERIAL, IN LIEU OF E COMPLETE IN PLACE		CY	39800	\$22,90	\$911,420.00	\$30.00	\$1,194,000.00	\$26.30	\$1,046,740.00
ALTERNATE BID ITEMS SUBTOTAL:					\$911,420.00		\$1,194,000.00		\$1,046,740.00
BIDDING SUMMARY		_ (
SUBTOTAL BASE BID ITEMS		•			\$599,475.00		\$612,256.07		\$706,240.22
TOTAL AMOUNT BASE BID					\$599,475.00		\$612,256.07		\$706,240.22
ALTERNATE BID ITEMS									
TOTAL AMOUNT BASE BID					\$599,475.00		\$612,256.07		\$706,240.22
DEDUCT BASE BID ITEMS ITEM NO.3					-\$175,120.00		-\$181,090.00		-\$167,160.00
SUBTOTAL ALTERNATE BID ITEMS					\$911,420.00		\$1,194,000.00		\$1,046,740.00
TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS					\$1,335,775.00		\$1,625,166.07		\$1,585,820.22

Page 3 of 5 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE MAGNOLIA PLACE PUBLIC DETENTION POND IMPROVEMENTS MAGNOLIA EAST MUNICIPAL UTILITY DISTRICT CITY OF MAGNOLIA, MONTGOMERY COUNTY, TEXAS JUNE 4, 2024 LJA ENGINEERING, INC. AVIGAIL AMIGLEO

JUNE 4, 2024 2559-1915 (9.2)

LUA GOD NO.			2000	7 1010 (0.2)					
		RID		4) PLD CONSTRUCTION, LLC		5) DOUBLE OAK CONSTRUCTION, INC		6) REBEL CONTRACTORS, INC.	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
BASE BID ITEMS									
	ND GRUBBING, INCLUDES ROOT RAKING, BACK DRAGGING AND C, COMPLETE IN PLACE	AC	16.07	\$7,875.00	\$126,551.25	\$3,950.00	\$63,476.50	\$7,500.00	\$120,525.00
CHOOSING N HAUL OFFSI REGULATION ACCORDANG PAYMENT O	F CLEARING AND GRUBBING. CONTRACTOR IS RESPONSIBLE FOR METHODS OF DEBRIS REMOVAL (ONSITE BURNING OR CHIP AND TE) IN ACCORDANCE WITH STATE AND LOCAL GOVERNMENTAL NS. OWNER WILL ALLOW MATERIAL TO BE BURNED ON-SITE IN DEWITH STATE AND LOCAL REGULATIONS, BUT NO ADDITIONAL REXTENSION OF TIME WILL BE MADE IF BURNING OF DEBRIS HAS ENDED FOR ANY REASON, COMPLETE IN PLACE	AC	16.07	\$500.00	\$8,035.00	\$4,500.00	\$72,315.00	\$4,000.00	\$64,280.00
AREAS AS IN PLACEMENT	N FOR DETENTION POND, INCLUDES SITE PREP, HAULING TO FILL IDICATED ON PLANS WITHIN 1 MILE OF THE SITE (OFF ROAD HAUL), IN MAXIMUM 8-INCH LIFTS, MANIPULATION, PROOFROLLING, AND N TO 95% STANDARD PROCTOR DENSITY AS INDICATED ON PLANS, N PLACE	CY	39800	\$4.60	\$183,080.00	\$4.80	\$191,040.00	\$5.75	\$228,850.00
4 5" THICK REI	NFORCED CONCRETE PILOT CHANNEL, COMPLETE IN PLACE	LF	719	\$70.75	\$50,869.25	\$107.00	\$76,933.00	\$46.00	\$33,074.00
	ORM SEWER ASTM C-76, CLASS III, INCLUDES BEDDING AND LL DEPTHS, COMPLETE IN PLACE	LF	68	\$160.00	\$10,880.00	\$165.00	\$11,220.00	\$115.00	\$7,820.00
	RM SEWER ASTM C-76, CLASS III, INCLUDES BEDDING AND LL DEPTHS, COMPLETE IN PLACE	LF	78	\$200.00	\$15,600.00	\$195.00	\$15,210.00	\$135.00	\$10,530.00
	RM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND LL DEPTHS, COMPLETE IN PLACE	LF	363	\$250.00	\$90,750.00	\$250.00	\$90,750.00	\$175.00	\$63,525.00
	ORM SEWER PIPE ASTM C-76, CLASS III, INCLUDES BEDDING AND LL DEPTHS, COMPLETE IN PLACE	LF	65	\$305.00	\$19,825.00	\$350.00	\$22,750.00	\$265.00	\$17,225.00
	D CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND ICLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$12,000.00	\$24,000.00	\$7,700.00	\$15,400.00	\$9,000.00	\$18,000.00
10 TYPE C MAN	HOLE WITH TYPE 'E' INLET TOP, COMPLETE IN PLACE	EA	2	\$12,000.00	\$24,000.00	\$8,200.00	\$16,400.00	\$11,000.00	\$22,000.00
11 INLET PROT	ECTION BARRIER FOR TYPE 'E' INLET, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$100.00	\$200.00	\$500.00	\$1,000.00
STOCKPILIN PROCTOR D	INTERCEPTOR SWALE, INCLUDES EXCAVATION, STRIPPING, G STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD ENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF , COMPLETE IN PLACE	LF	1035	\$7.00	\$7,245.00	\$3.80	\$3,933.00	\$10.00	\$10,350.00
STRIPPINGS	WALE, INCLUDES EXCAVATION, STRIPPING, STOCKPILING, , PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR ITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, N PLACE	LF	455	\$12.00	\$5,460.00	\$3.80	\$1,729.00	\$15.00	\$6,825.00
	INTERCEPTOR AND OUTFALL STRUCTURES INCLUDES 24" HDPE, T, TOP AND SIDE SLOPE PROTECTION, COMPLETE IN PLACE	EA	1	\$12,000.00	\$12,000.00	\$10,000.00	\$10,000.00	\$17,500.00	\$17,500.00
	RUCTION STAKING FOR DETENTION POND ITEMS. CONTACT GARY 713.953.5042	LS	1	\$15,000.00	\$15,000.00	\$19,000.00	\$19,000.00	\$15,000.00	\$15,000.00
SPILLWAY, S	CED CONCRETE PAVEMENT FOR EMERGENCY OVERFLOW SEE DETAIL A-A, SHEET 19, WITH #4 @ 12' C-C EW, INCLUDES 18" ABILIZED SAND AROUND PERIMETER, COMPLETE IN PLACE	SY	160	\$150.00	\$24,000.00	\$220.00	\$35,200.00	\$100.00	\$16,000.00
CONCRETE : POND, 2-4:1 BACKFILL, 1:	D CONCRETE PIPE STORM SEWER OUTFALL STRUCTURE, INCLUDES SLOPE PAVING W/4' TOE WALL ALONG FLOW LINE OF DETENTION S.E.T., 2' TOE WALL ON ALL SIDES, 18" CEMENT STABILIZED SAND 8" CONC. RIP-RAP AND ALL APPURTENANCES, ALL SIZES, ALL MPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$25,000.00	\$25,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE MAGNOLIA PLACE PUBLIC DETENTION POND IMPROVEMENTS MAGNOLIA EAST MUNICIPAL UTILITY DISTRICT CITY OF MAGNOLIA, MONTGOMERY COUNTY, TEXAS JUNE 4, 2024 LJA ENGINEERING, INC.

AVIGAIL AMIGLEO JUNE 4, 2024 2559-1915 (9.2)

			()					
		BID	4) PLD CONSTRI	UCTION, LLC	5) DOUBLE OAK CON	STRUCTION, INC	6) REBEL CONTR	ACTORS, INC.
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
18 4" THICK SLOPE PAVING FOR POND OUTFALL SIDE SLOPES WITH 6" X 6" WELDED WIRE MESH AND 4' TOE WALL ALONG FLOWLINE OF CHANNEL AND 2' TOE WALL ON ALL OTHER SIDES, 18" THICK CEMENT STABILIZED SAND ON PERIMETER, COMPLETE IN PLACE	SY	100	\$150.00	\$15,000.00	\$165.00	\$16,500.00	\$85.00	\$8,500.00
19 PROMATRIX DRY APPLICATION FOR SIDE SLOPES, COMPLETE IN PLACE	SY	4860	\$2.00	\$9,720.00	\$2.10	\$10,206.00	\$2.00	\$9,720.00
20 HYDROMULCH SEEDING OF MAINTENANCE BERMS AND POND BOTTOM, COMPLETE IN PLACE	AC	3	\$2,500.00	\$7,500.00	\$2,700.00	\$8,100.00	\$5,000.00	\$15,000,00
21 INSTALL, MAINTAIN, AND REMOVE REINFORCED FILTER FABRIC FENCE (SILT BARRIER FENCING), COMPLETE IN PLACE	LF	10000	\$2.00	\$20,000.00	\$2.75	\$27,500.00	\$3.50	\$35,000.00
22 STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$5,200.00	\$5,200.00	\$25,000.00	\$25,000.00
23 ROCK FILTER DAM, TYPE 2, (ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	2	\$3,500.00	\$7,000.00	\$1,900.00	\$3,800.00	\$4,500.00	\$9,000.00
24 24" STORM SEWER OUTFALL, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.00	\$9,000.00	\$9,000.00
25 42" STORM SEWER OUTFALL, COMPLETE IN PLACE	EA	1	\$8,000.00	\$8,000.00	\$4,500.00	\$4,500.00	\$9,000.00	\$9,000.00
26 CONNECTION TO EXISTING 24" RCP STORM SEWER, COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	\$900.00	\$1,800.00	\$4,500.00	\$9,000.00
BASE BID ITEMS SUBTOTAL:				\$707,015.50		\$737,362.50		\$806,724.00
ALTERNATE BID ITEMS								
1 EXCAVATION FOR DETENTION POND, INCLUDES SITE PREP, HAULING OFF AND OFFSITE DISPOSAL OF EXCAVATED MATERIAL, IN LIEU OF BASE BID ITEM NO. 3, COMPLETE IN PLACE	CY	39800	\$18.00	\$716,400.00	\$40.00	\$1,592,000.00	\$20.00	\$796,000.00
ALTERNATE BID ITEMS SUBTOTAL:				\$716,400.00		\$1,592,000.00		\$796,000.00
BIDDING SUMMARY								
SUBTOTAL BASE BID ITEMS				\$707,015.50		\$737,362.50		\$806,724.00
TOTAL AMOUNT BASE BID)	\$707,015.50		\$737,362.50		\$806,724.00
ALTERNATE BID ITEMS								
TOTAL AMOUNT BASE BID				\$707,015.50		\$737,362.50		\$806,724.00
DEDUCT BASE BID ITEMS ITEM NO.3				-\$183,080.00		-\$191,040.00		-\$228,850.00
SUBTOTAL ALTERNATE BID ITEMS				\$716,400.00		\$1,592,000.00		\$796,000.00
TOTAL AMOUNT INCLUDING ALTERNATE BID ITEMS				\$1,240,335.50		\$2,138,322.50		\$1,373,874.00

FRN F-1386 Page 5 of 5